
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Undecidable NI algorithm
Problems abaft the behavior of machinesfalgos

Haltingproblemi Given code CMand a string w
Does M halt give input w

SELFHALT Given CM does M halt on CMS

supposesttdecidesSELFHI.LT Impossible
ACCEPT SH SELF HALT
12 EJECT ISH 2 I SELF HALT

s

II aT
Accept SH't REJECT SH
If SH accepts GHB SH acceptsGH't

SH't hangs on GH't
SH rejects Stix

SHH accepts GH

HALT is undecidable

Spose H decides HALT
write SH.EE

IfyIwEqwdj.gofsmeM



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SH decides SELF HALT impossible D

NEVER HALT Given M does M always halt

Spose NH decides NEVERHALT

HK
write the followingcode

D

Suppose M halts on w

Then Mw halts on all inputs
So NH rejects Mw
So It accepts CMS w

Suppose M hangs on w

So Mx hangs on all inputs
so NH accept crew
So H rejects CMS w



 
 
 
 
 
 
 
 
 
 
 




